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?l: €N TR R (SH9 H2)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
03 A=A H A 42,000 42,000 0
OCegd Frsiot g2xa 42,000
oEEMYR =M 37,040 37,040
201 2Btz 33,000 33,000
01 AlR2telHl 33,000 33,000
(@)1= =gt el 33,000
202 Ot 4,000 4,000
01 2LHO Y] 4,000 4,000
OXISIHZAIY & A2 =& 0] 4,000
301 Let2NS 40 40
11 HAFHIXIRS 40 40
O=tH=AIZYI 40
ZEAQI X|HHY 24,070,100 18,484,800 5,585,300
z 18,361,100
ES 600,000
< 5,109,000
NPl = erd 23,470,100 16,904,800 6,565,300
z 18,361,100
< 5,109,000
KIS HL R 2 2,250,000 4,384,000 2,134,000
z 2,250,000
403 MXISHHS 201N 2,250,000 4,384,000 2,134,000
fas 2,250,000
01 REXIEHMIAt 2 2 2 2,250,000 4,384,000 A2,134,000
OLEELE KISFIMLALE 2,250,000
= 2,250,000
N2 LS 5,566,000 4,756,000 810,000
z 5,566,000
403 MR HHMSAHE01H 5,566,000 4,756,000 810,000
z 5,566,000
01 XIXISHX=2EE 5,566,000 4,756,000 810,000
OXgG+=2 XEXEAY 5,566,000
= 5,566,000
SENHERT K& 2,960,000 2,000,000 960,000
= 2,960,000
403 MR HHMSAHE01H 2,960,000 2,000,000 960,000
z 2,960,000
01 MXISHX=EE 2,960,000 2,000,000 960,000
OFE =X+ XA 2,960,000
s 2,960,000
HEXS JIBAIE XI2AIS (RHEALY) 5,104,000 2,794,000 2,310,000
403 MXISHHSX=Z01H 5,104,000 2,794,000 2,310,000




= JdgdE= A - DEEE
3 oEFel Xoneg
Rl XFIHeE=sd (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT

01 AXESMA2EE 5,104,000 2,794,000 2,310,000
OAHEXS JIBtAIE XIS ALS 5,104,000

N MBS =2 XA 2,059, 100 2,059,800 AT700
z 2,059, 100

403 AXIEHHSAH=0ld 2,059, 100 2,059,800 2700
= 2,059,100

01 AXEHMA=EE 2,059, 100 2,059,800 AT700
Ofgretae =X A 2,059, 100
z 2,059, 100

N MBS 2kl 1,000 3,000 »2,000
z 1,000

202 04t 1,000 3,000 22,000
= 1,000

01 =LH0i 1,000 3,000 22,000
O rietei2tel ol 1,000
z 1,000

N RIS RS2 I (Al1Z) 35,000 27,000 8,000
z 35,000

308 XXM SOl 35,000 27,000 8,000
as 35,000

01 AXEH B EES 35,000 27,000 8,000
OJf& gt 2] 35,000
= 35,000

CHEREE S 2¢a 5,000 5,000 0

401 AlEHIYL S THYI 5,000 5,000
01 Al&HI 5,000 5,000

OEAzxg=E & R 2=+ 5,000

WS X2 A 2,830,000 400,000 2,480,000
as 2,880,000

403 AXIEHMSA=Z01d 2,830,000 400,000 2,480,000
z 2,830,000

01 AXEMA2EE 2,880,000 400,000 2,480,000
ORF2 FAALHUE HE 22X =4 2,880,000
= 2,880,000

et NIR=ERE Quet 2= 2,610,000 0 2,610,000
s 2,610,000

403 AXIEHMSAH=201d 2,610,000 0 2,610,000
z 2,610,000

01 AXISHHA 22 % 2,610,000 0 2,610,000
Ot NR=&=IE eluet 2= 2,610,000
= 2,610,000

SAIDHE 2t 600,000 1,580,000 £A980,000
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A= JgAHE= 2N ZELE D
A HYRAZH(ZELEL)
&elr D=3l (SH9 H2)
Y2 RA - F - G9(3) - AR - BLS ol &t A HIDZ2
OkLE=S 1,800
Odd 700
Weas(ogadt) 37,166,000 35, 166,000 2,000,000
WSHeHXIE 37,166,000 35,166,000 2,000,000
WRAHeHXI=E 37,166,000 35,166,000 2,000,000
701 JIEtRIHNSHES 37,000,000 35,000,000 2,000,000
01 It AN ES 37,000,000 35,000,000 2,000,000
ONS g2 uEEH HES 37,000,000
705 Ol==dcl=eE 166,000 166,000
04 Al - EXSHED IS0 ==01Atat &t 166,000 166,000
07.28-8.11 SRMHS A 86,000
OXle252% THoHOllY FHIAFE (MIA) 80,000




A £ 0l & AF & S

Al A

A= Dg€HER 2A 21
M me|ot) otEE S22 RH
ol NS 2 EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
CE2 72,362,650 87,843,927 ~15,481,277
= 7,259,000
e 125,000
< 64,978,650
Helotn oHME E2% A= 53,723,336 71,326,033 A 17,602,697
= 7,259,000
e 125,000
< 46,339,336
Agez 2e) 144,850 144,426 424
NLE NS ZA 92,850 89,892 2,958
401 AlEBIL LY 92,850 89,892 2,958
01 AlZHI 92,850 89,892 2,958
OXgE nESzk A 92,850
g9 2 52,000 54,534 N2,534
308 AHAIEMSOIE 52,000 54,534 12,534
01 AXHHNBHEES 52,000 54,534 N2,534
OXge 3&=+9 22 52,000
NS SHESZIHE ALY 7,154,200 9,747,000 22,592,800
E 125,000
< 7,029,200
WSALD FH2R AL (M ESHALY) 1,810,000 1,058,000 752,000
403 TR SHMSAH=01H 1,810,000 1,058,000 752,000
01 AR A= 2 £ 1,810,000 1,058,000 752,000
OuWSEAD #2R HE A 1,810,000
O12I0l 257 A (HEAY) 1,200,000 970,000 230,000
403 MR HHMSAHE01H 1,200,000 970,000 230,000
01 AXEHM A =2EE 1,200,000 970,000 230,000
ONE0l B2 HH ALY 1,200,000
PO NSHEHH S XIS (HEA) 1,699,200 5,260,000 3,560,800
403 AXIEHMSAH=201H 1,699,200 5,260,000 3,560,800
01 XA =2 E 1,699,200 5,260,000 3,560,800
ORQNSHEHH S XA 1,699,200
OIS EMEE THA(HEAY) 400,000 1,000,000 2600,000
403 X SHHMSAH=01H 400,000 1,000,000 2600,000
01 AR A= 2 £ 400,000 1,000,000 £A600,000
Oetdgt Zaligty gAY 400,000
MER O|HEZZ FHHIALY 125,000 110,000 15,000
e 125,000
403 THXI M SAH=01H 125,000 110,000 15,000
e 125,000
01 MHXIHHA 22X 125,000 110,000 15,000
Odzd 0|HEZ FHIAY 125,000




= DAL 2N 2D
H: @H2l5ln oINS T2 11X
Sl XA DS OHE BRI ALY CERED
Al = % ol (5 = dEE =
A RA - ZH - BRI(EH) - ARAY - BES Ofl ko4 il tor HlmE2
| A 125,000
SEDTE HXAL (TSI 980,000 700,000 280,000
408 RXI SIS K20/ A 980,000 700,000 280,000
01 XX S K22 = 980,000 700,000 280,000
Os|d WA EXIAY 980,000
LIRS HHAL (FEALY) 940,000 649,000 291,000
408 XEXI SIS XH=0IH 940,000 649,000 291,000
01 XM= T 940,000 649,000 291,000
OLI25 7 I H AL (HEAI) 940,000
FE=2ENM 1,457,000 900,000 557,000
PIBE2 IS (HEALY) 1,457,000 900,000 557,000
408 RXISHHERZ0/H 1,457,000 900,000 557,000
01 XXM =2 Z 1,457,000 900,000 557,000
OFBEE PENHAIY 1,457,000
2OMXI RN S E S LR ALY 12,870,286 22,001,000 £9,130,714
= 7,259,000
= 5,611,286
AE-E AN AL (INTHEH) 6,856,000 13,572,000 8,716,000
= 4,099,000
= 2,757,000
401 Al HIL 2 CHH| 6,856,000 13,572,000 8,716,000
z 4,099,000
= 2,757,000
01 Al&H 6,39,000 13,066,000 6,670,000
O4E-g2t 2N & 24 6,39,000
= 3,777,000
= 2,619,000
02 Z2lt| 450,000 500,000 A50,000
OME-22t 2N & 24 450,000
= 315,000
= 135,000
08 Al =T 10,000 6,000 4,000
ME-E 2T AL 10,000
z 7,000
& 3,000
1Z-ZH2 NG AL (RN EREH) 3,800,000 4,000,000 200,000
z 2,660,000
= 1,140,000
401 AIEHIL R OHY 3,800,000 4,000,000 A200,000
= 2,660,000
= 1,140,000
01 Al&H| 3,460,000 3,590,000 130,000




D OgHdE= 2H 0 =21
© Helotl ordet S22
EPIPNFEINIE Lt SN, EER=E)
CRA - FB . O9(B) - HRAY - BAS ol ke G o HlmS2
OHa-3248 IXNE A 3,460,000
= 2,422,000
= 1,038,000
02 Zeldl 330,000 400,000 A70,000
Ods-34d =K% 330,000
= 231,000
& 99,000
03 Al CHYI 10,000 10,000 0
OH3-248 INE A 10,000
s 7,000
& 3,000
PUSZ-2LFIC =X T S) 2,214,286 4,429,000 A2,214,714
s 500,000
& 1,714,286
401 Al&HIZ 20| 2,214,286 4,429,000 AN2,214,714
s 500,000
& 1,714,286
01 Al&HI 1,870,000 4,000,000 22,130,000
ORAES2-2FIC 1,870,000
s 259,000
& 1,611,000
02 2eldl 340,000 429,000 289,000
ORAS=2-2FIC 340,000
s 238,000
= 102,000
03 A& 2 CHYI 4,286 0 4,286
ORLUS2-2FIC 2T A 4,286
s 3,000
& 1,286
Sz ol 30, 196,000 32,463,750 AN2,267,750
-850 N SEE 7,000,000 4,000,000 3,000,000
401 AIEHIZ20HB 7,000,000 4,000,000 3,000,000
01 Al&Hl 6,695,000 3,695,000 3,000,000
Ols-8ZEIC N 2L HS 6,695,000
02 Zeldl 300,000 300,000 0
OUs-33IC N SLES 300,000
03 A& SR CHYI 5,000 5,000 0
OUE-33IC NLE SLES 5,000
NEE OIN=8X B4 1,000,000 1,000,000 0
401 AIEHIZL 200 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OXgE 0IXZEX 1,000,000




A= PEASI SA E2
A H2|5tD otNEt S22 A=
ol NYE2 H EER=E)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
NeE=2 HEIAIE &9 42,000 40,000 2,000
201 LBt AH| 32,000 30,000 2,000
01 AtR2tely| 29,000 27,000 2,000
OXNYE HRFA M KO S 29,000
02 S324| 3,000 3,000 0
Ost=2=2 S8 2s 24H| X 3,000
203 YR =ZIH| 10,000 10,000
03 AIHF=RIHAR=KIH| 10,000 10,000
OXNZEZAE =& 10,000
2H-5E KN SIEZEAZA 4,800,000 1,800,000 3,000,000
401 A& H|I L E0HY] 4,800,000 1,800,000 3,000,000
01 Al&H| 4,417,000 1,540,000 2,877,000
Oxd-ZE LT SILFSA 4,417,000
02 2eldl 380,000 258,000 122,000
OxH-ZE NegE SZEIA} 380,000
03 A& 20HYI 3,000 2,000 1,000
Ox8H-3E Ng& SZEHIA} 3,000
A S&S5E2 SEEAZA 1,500,000 1,500,000 0
401 A& H| L E0HY] 1,500,000 1,500,000
01 Al&H| 1,499,000 1,499,000
O8E S=SEZ SEAZDA} 1,499,000
03 A& 20HHI 1,000 1,000 0
O8E S=SE2 SEEAZA} 1,000
=S-o44 XN SEEZA 1,000,000 1,500,000 500,000
401 AIEHIZLE0HY] 1,000,000 1,500,000 500,000
01 Al&HI 94,000 1,490,000 A496,000
O3&-44 NYe SZEHIA} 994,000
03 AlE20HHI 6,000 10,000 A4,000
OZE-44 LT SLEHTA 6,000
NA-S & XS SLE DA 4,500,000 2,700,000 1,800,000
401 A& H|ILE0HY] 4,500,000 2,700,000 1,800,000
01 Al&HI 3,995,000 2,497,000 1,498,000
OXNM-SH XLE SIEHS A 3,995,000
02 Zeldl 500,000 200,000 300,000
OXNt-5d XeUe SELEZA 500,000
03 A& 20HYI 5,000 3,000 2,000
OXNe-5H XNUe SZEHIA} 5,000
&gz KNYE SIZAZA 4,700,000 2,000,000 2,700,000
401 A& H|I L E0HY] 4,700,000 2,000,000 2,700,000
01 Al&H| 3,986,000 1,998,000 1,988,000
O&-g= LT SIS A 3,986,000




A= pYAL= 2N E2
Mo HRlslD QIAE C2Y DX
el NYE2Z JHl (Gt H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2

02 Zeltl 700,000 0 700,000
Og4-g= N SZLITA 700,000

03 A2 THYI 14,000 2,000 12,000
Og4-g= Nex SELHESA 14,000

S ASEZ HESA 1,000,000 500,000 500,000

401 Al HIZ R 0HbI 1,000,000 500,000 500,000

01 AlZ8| 798,000 498,000 300,000
O =352 HESA 798,000

02 2l 200,000 0 200,000
O+ X8E2 HESA 200,000

03 Al 2CHYI 2,000 2,000 0
O==F =852 HESA 2,000

SA-AI&F XSE SR YA 4,000,000 2,700,000 1,300,000

401 Al HIZ S OHHI 4,000,000 2,700,000 1,300,000

01 A28l 3,995,000 2,695,000 1,300,000
O -X&h NP SHLHIZA 3,995,000

03 Al 20HHI 5,000 5,000 0
O -Xat XNLE SLIZAL 5,000

A RIE=2 XLET HEIA 300,000 300,000

401 Al HIZL 201 300,000 300,000

01 Al&H| 295,000 295,000
Og= 232 XNYT HESA 295,000

03 AIZSTHYI 5,000 0 5,000
O¢= R3E2 XLT HESA 5,000

SE-OE NG SEYSA 189,000 200,000 211,000

401 Al HIZL S 0HHI 189,000 200,000 211,000

01 Al&HI 189,000 198,560 29,560
OsSg-¢a NLe =L SA 189,000

NS E279 28 89 100,000 0 100,000

401 Al HIZL 01| 100,000 100,000

01 Al&H| 99,100 99,100
OXNgE E2+79 XHEY 99,100

03 AIZ2THYI 900 0 900
OXgE £279 £HEY 900

N HEZAF AAZE I} 65,000 65,000

401 Al HIZ R 0HHI 65,000 65,000

01 AlZ28| 65,000 65,000
OXY T ALSAL A= EIt 65,000

gR3z HZ2E2Y 2= 1,300,000 5,869,857 A4,569,857

E=-0122 AL SZTHIA 1,300,000 5,869,857 A4,569,857

401 Al HIZL 201 1,300,000 5,869,857 A\4,569,857
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A= PEASI SA E2
M HolsiD OHAB TR0 P=
ol Rz HZEE2e 2F EER=E)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
01 Al&H| 1,100,000 5,490,157 N4,390,157
Os=2-0132 XS SLEZ AL 1,100,000
02 2eldl 200,000 376,700 A 176,700
O=2-01232 NYE SILEIAL 200,000
TAHEEZ HH| 601,000 200,000 401,000
SAIHEEZ HHIAIE 601,000 200,000 401,000
403 XIS IS AH=0|™ 601,000 200,000 401,000
01 ARS8 X 601,000 200,000 401,000
OEZAHEEZZ HUIAIZ 601,000
AN BIXGHE KEAEAMS |4 3,000 3,000 0
KNSAALE A -5} 3,000 3,000 0
AENMSE LS R =X 3,000 3,000 0
201 LEtEAH| 3,000 3,000 0
01 AFR22t2lHl 3,000 3,000 0
Oy S5 L =M 1,000
O=s2elE% M 2,000
ME XA 240,000 240,000 0
NN w2 240,000 240,000 0
TEANEE AL 240,000 240,000 0
308 AXISHHSOIA 240,000 240,000 0
(02 SESIT == 240,000 240,000 0
O 2Z2A=EE 240,000
HMSAAH|(Z21) 56,914 61,094 N4,180
J|l2Z&t| 56,914 61,094 N4,180
J|2&h| 56,914 61,094 N4,180
201 LErEAH| 19,514 22,614 N3,100
01 AtR22teld| 19,514 22,614 A3,100
OJ|12+EHl 7,964
(OPIE==1="1:] 11,550
202 04| 37,400 38,480 A 1,080
01 2L Y| 37,400 38,480 A 1,080
OJ120| 37,400
WRES(=2) 18,339,400 16,213,800 2,125,600
WEHeHXIZS 18,339,400 16,213,800 2,125,600
LHEAHH XS 18,339,400 16,213,800 2,125,600
705 Oll=2 &2 24tE 18,339,400 16,213,800 2,125,600
03 Al - EXGE D |20 =224 14,330,000 11,830,000 2,500,000
O'"10 KT HU|AF (K& 2,000,000
O'"11 XY= HUIAFZ (1K) 1,000,000
O'"11 XIS HU|AFH (2K 1,000,000
O'"11 X E HU|AFS (3XH) 850,000
O'"12 XAIYE HHIAFE 620,000

_11_




A= pYAL= 2N E2
M WREsS(E2)
el LR KIE EER=E)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2
O'14 XY T HEIAI 1,000,000
O'15 NYE A 1,000,000
O'16 NYE FHIAY 1,500,000
O'17 XYE ZHIAIY 2,500,000
O'1l Q&N HYER AM 480,000
OZHUBD=3ICR IR SHER

BI(1X}) 400,000
OSHUSDABCR L3R AHER B

gl (2xt) 690,000
O'11 SIKFXNYE SEZH 390,000
OFZEH ALAIS (X2 240,000
OjrIL~E 2X& HA (Xt 460,000
OJI12~22 =2XT HA(XHE) 230,000

04 Al - SXISNL IS0 =3 0| Ktate 4,009,400 4,383,800 A374,400
O'10 XY= HHIAL (X3 180,000
O'11 XY= HHIAFI(1XH) 140,000
O'11 NYE HHIAF (2x}) 140,000
O'11 NYE HHIA (37}) 119,000
O'"12 NYE FHIAI 108,500
O'"14 NLE FHIAY 210,000
O'15 ALE FHIA 240,000
O'16 NYE HHIAY 337,500
O"17 NYE FHIA Y 500,000
O'18 NIYE FHIAA 500,000
O'"19 LT FHIA 400,000
O'20 XNYE ALY 600,000
O'11 LEAAN MAEZ HA 63,000
O=HUEDNHZIE R U232 dHEE &

BI(1X}) 56,000

SEUSIESEZ 237 AHEZ §

HI(2X}) 96,600
O'"11 2OXAXYE S E 54,600
OFHSUW HEAI (Xt 21,600
O/IL~E2 =XE HA(XHE) 41,400
OJ2~223 =2X< AL (X8 20,700
O'20 SN S2A 22,500
O'21 =2 HHIAIY 158,000

_12_




Al & Ol & A Z Ml A
023 =0ilat LB ZEAL=
A= JgAHe= 2A  nSED
A Helst NSEF JIgRS
&elr =X 4o LS |4 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
WS 48,459,718 44,222,224 4,237,49%
= 8,299,400
z 7,826,000
< 32,334,318
melgt WS=EF IR 47,836,391 43,511,407 4,374,984
= 8,299,400
= 7,826,000
< 31,760,991
QU 4 Hsus =4 33,269,950 26,120,094 7,149,856
= 4,973,000
z 7,626,000
< 20,670,950
NAHASSAIS THE X 4,324,500 4,367,000 A42,500
307 el2+old 4,284,500 4,284,500 0
09 2+LAE2XES 4,284,500 4,284,500 0
OAlIHA 2EAH HEXH 4,284,500
402 RIR”EXH=0I1 A 40,000 82,500 A42,500
01 QIZEXHE AL 2 (KR TH ) 40,000 82,500 A42,500
OUHIXt K& 40,000
AU (SHE)HA 28AI THE X 6,089,400 4,958,384 1,131,016
308 AXISHSOIH 6,089,400 4,958,384 1,131,016
01 RSB ExS 6,089,400 4,958,384 1,131,016
OANUH(SHE)HA 2SAE HEXIR 5,954,400
OAMUHA FF=RSE =& X2 135,000
HAH A2y 5,152,000 5,132,000 20,000
= 4,696,000
< 456,000
308 ARISHMSOIE 5,152,000 5,132,000 20,000
= 4,696,000
< 456,000
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OgEllcd =424 5,152,000
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g 2= 29
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_13_




= JdgdE= SN DSEMD
M mHest nEEF JIgRE
Rl =X S48 Hsus |4 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro Ce = timE=FT
Ofl &k2h
[ 208,800
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= 696,000
< 208,800
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= 696,000
< 208,800
Z90|5 88 SEusS+H &Y 480,000 460,000 20,000
403 X SHHMSAH=01H 480,000 460,000 20,000
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308 AtAIEHMSOIE 1,060,000 1,060,000 0
z 850,000
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A= gEAd=m 2M 0 EXEE 0
M EXNEHE &=
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AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
EXNEEW 7,517,789 9,689,709 22,171,920
= 6,868,345
EN 43,385
& 606,059
EXNEE &= 7,463,462 9,631,392 22,167,930
= 6,868,345
N 43,385
s 551,732
DAMo=0l EXEEHEH 6,680,825 8,541,535 21,860,710
= 6,624,345
& 56,480
IHEZAIXIDE A 755,696 745,377 10,319
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201 Lt | 1,000 1,000 0
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202 Ot 1,000 1,000 0
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